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QUESTION 1

What does the following expression do: 

"generate([Productline],topCount(descendants(currentMember([sales_and_marketing].[Pro
ducts].[Products]),[sales_and_marketing].[Products].[Products].[Product]),2,[Revenue]))"? 

A. Returns the top two products by revenue for each product line. 

B. Finds the top two members by revenue at the product level and returns their respective ancestors at the product line
level. 

C. Calculates the top two product lines for each product. 

D. Goes two levels up from products and returns the top members by revenue at that level. 

Correct Answer: A 

 

 

QUESTION 2

Which of the following are dimensional objects? 

A. Sets and query calculation 

B. Query subject andrelationship cardinality 

C. Slicer and string function 

D. Level and member 

Correct Answer: B 

 

QUESTION 3

The "Sales" and "Inventory" data stores each have "Products" and "Time"dimensions. For drill-through between the data
stores on the "Products" and "Time" dimensions to work, which items in the structures must be identical in the data
stores? 

A. Hierarchy names, member values 

B. Level order, level names 

C. Hierarchy names, snowflake schema 

D. Role value, internal keys 

Correct Answer: B 
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QUESTION 4

A crosstab report has product lines in the rows, years in the columns, and revenue as the measure. In Query Explorer,
from the source tree, the report author drags the order method Telephone to the Slicer pane. 

Why does the report author do this? 

A. To help to set the context. 

B. To create an ordered set. 

C. To return only one tuple. 

D. To aggregate the telephone member. 

Correct Answer: A 

 

 

QUESTION 5

In a crosstab, Campaign is in the rows area, Order method type is in the columns area, and Quantity is the measure.
Campaign and Order method type are specified in the query. The report runs, displaying quantity valuesfor all years. 

Why does this happen? 

A. The dimension member from that dimension is implied. 

B. The order method member from that dimension is implied. 

C. The aggregate member from that dimension is implied. 

D. The default member from that dimensionis implied. 

Correct Answer: D 

 

Latest C2090-645 Dumps C2090-645 Exam Questions C2090-645 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest C2090-645 Dumps | C2090-645 Exam Questions | C2090-645 Braindumps                                3 / 3

https://www.leads4pass.com/c2090-645.html
https://www.leads4pass.com/c2090-645.html
https://www.leads4pass.com/c2090-645.html
http://www.tcpdf.org
https://www.leads4pass.com/c2090-645.html
https://www.leads4pass.com/c2090-645.html
https://www.leads4pass.com/c2090-645.html

